
g]kfn ;/sf/

k|b]z 

;/sf/

:yfgLo 

tx

1

;fljs /fdgu/ e''^fxf j*f g+= 7 l:yt

dl:hb b]lv sla|:yfg ;Dd / df]xDdb

xfhLsf] #/ b]lv d"n ;*s klZrd af^f]

:t/f]GgtL j*f g+= 2 1000000

;fljs /fdgu/ e'^fxf jf* g+= 7 / 5

df d'l;{b #/b]lv dl:hb x'+b} blIf)f tkm{

bfpb #/ x+'b} #':sL hfg] af^f] ;Dd /

lhofpl@g xfhLsf] #/ x'+b} d"n ;*s

 k"jf{wf/ ljsf; sfo{qmd 

aflif{s ljsf; sfo{qmd 

cf=j= 2074.075

>f]t

cGt/ ;/sf/L ljQLo x:tfGt/)f

>d
hg;xef

lutf

qm=;=

sfo{qmd cfof]hgfsf] gfd 

sfof{Gjog x'g] 

:yfg 
nIo ljlgof]hg ?= cfGtl/s 

>f]t

2

lhofpl@g xfhLsf] #/ x'+b} d"n ;*s

;Ddsf] af^f] :t/f]Gglt 
j*f g+= 2 500000

3

;fljs /fdgu/ e'^fxf j*f g+= 3 df

df]hDdLn #/b]lv k"j{ x'+b} blIf)f xl/gu/f

af]*{/ ;Ddsf] ;*s ;t/f]GgtL 

j*f g+= 2 500000

k|a${gfTds sfo{qmd 

1

j*f sfof{nosf nflu Nofk^k, lk|G^/,

sDKo'^/ pks/)fx? Vl/b j*f g+= 2 300000

2

j*f sfof{nosf nflu cfjZos kmlg{r/

;fdu|Lx? Vl/b j*f g+= 2 125,000

3

j*f sfof{nosf nflu Oge{^/ pks/)f

vl/b j*f g+= 2 80000

4

;fljs /fdgu/ e'^fxf 4 df dl:hb

ePsf] &fp+df /}h' #/ cuf*L uf/]^f]

af^f] u|fe]n j*f g+= 2 150000



5

;fljs /fdgu/ e'^fxf j*f g+= 4 df

/x]sf] sla|:tfgsf] af^f]df 2 j^f xf]d

kfO{k /flv u|fe]n ug]{ . j*f g+= 2 100000

6

e'^fxf ahf/sf] dlGb/ cuf*L lj>fdfno

lgdf{)f sfo{ j*f g+= 2 75000

7

dlGb/b]lv k"j{ :s"n ;Dd / a|xd #/b]lv

blIf)f dGgfg l;l@sL #/;Ddsf] af^f]

:t/f]GgtL j*f g+= 2 220000

8

;fljs /fdgu/ e'^fxf j*f g+= # df

/fd ^f]nsf] klZrd tkm{sf] af^f]df

lkmlné / u|fe]n j*f g+= 2 100000

9

;fljs /fdgu/ e'^fxf j*f g+= 3 dl:hb

b]lv p;dfg df]NjL #/;Dd kSsL ;*sdf 

hf]*g] af^f]df df^f] lkmlné / u|fe]n

j*f g+= 2 500009 j*f g+= 2 50000

dlxnf

1

Go"g cfo ePsf ldxnfx?sf nflu 3

dlxg] l;nfO{ s^fO{ tflnd j*f g+= 2 300000

afnaflnsf 

1

hldct'n O:nfxdf cWog/t 5 hgf

c;xfo afnaflnsfsf] Ps aif{sf] ;Dk")f

vr{ jfkt Psd'i^ ?= 15000. sf b/n]

k")f{ %fqa[lt pknAw u/fpg] sfo{qmd

j*f g+= 2 75000

2

afnaflnsfx?sf j*f :t/Lo h'lgo/

km'^jn k|ltof]lutf ;+rfng ;DaGwL

sfo{qmd j*f g+= 2 50000



3

2 g+= j*f cGtu{t /x]sf u|fld)f pTyfg

k|f=lj= / lj=kL= k|f=lj=sf c;xfo tyf

blnt afnaflnsfx? dWo] a(Ldf 100

hgfsf nflu lgz'Ns kf&\o ;fdu|L

pknAw u/fpg] sfo{qmd 
j*f g+= 2 175000

lk%*f au{ (OBC)

1

ck|fljlws ;]jf tkm{ nf]s;]jf cfof]u

tof/L sIff ;+rfng ;DaGwL

sfo{qmd÷df]afO{n dd{t tflnd j*f g+= 2 100000

2

k|fljlws ;]jf tkm{ nf]s;]jf cfof]u to/fL

sIff ;+rfng ;DaGwL sfo{qmd÷3 dlxg]

sDKo'^/ tflnd j*f g+= 2 100000

blnt nlIft sfo{qmd 

xl/gu/f uf=kf= j*f g+= 2 cGt{utsf

1

xl/gu/f uf=kf= j*f g+= 2 cGt{utsf

blnt kl/jf/sf] nut ;+sng u/L a(Ldf

100 kl/jf/sf nflu k|lt kl/jf/ 1÷1

j^fsf b/n] kfgL %fGg] lkmN^/ pknAw

u/fpg] sfo{qmd 
j*f g+= 2 200000

cfkf+u

1

j*f :t/sf cfkf+ux?sf] nut ;+sng

u/L zfl//Ls cfkf+u dWo] 5 hgfnfO{

XjLn lro/ ljt/)f ug]{ sfo{qmd 

j*f g+= 2 150000

1

2 g+= j*f sfof{nosf] :jfldTjdf hUuf

/x]sf] x'+bf j*f sfof{no ejg lgdf{)f

ug{sf nflu jh]^ ljlgof]hg ug' kg]{

cg'dflgt 3000000

ufp+ sfo{kflnsf ;dIf dfu ug]{ of]hgfx? k|yldQmfqmd 



2

;fljs /fdgu/ e'^fxf 5 / 7 g+= j*f

cGtu{t pGgt v]tLsf nflu :^]^ af]l/é

lgdf{)f sfo{ 2000000

3

dl/of vf]nfsf] afFwdf qm]l^é u|fe]n /

dd{t sfo{ 500000



g]kfn ;/sf/

k|b]z 

;/sf/ :yfgLo tx

cfly{{s,;fdflhs tyf ef}lts k"jf{wf/

ljsf;

1

1 g+= j*f sfof{nosf] gj lgld{t ejgdf

sfof{no ;+rfngsf nflu k+vf, kmlg{r/ ;fdfg,

^]an, b/fh, /\ofs, sDKo'^/, lk|G^/, kmf]^f]skL

dlzg cflb vl/b ug]{ sfo{
j*f g+= 1 500000

2
1 g+= j*f slb/ #/ ;Dd hfg] eL;Ljfnf af^f]

lgdf{)f uf}tdk'/ gof xl^of blIf)fdf j*f g+= 1 250000

3

O:nfd c+;f/L #/b]lv k"j{ dl/of vf]nfkf/L

uf}tdk'/ hfg] af^f]df hf]*g] af^f]df df^f] /

u|fe]n ug]{ sfo{ j*f g+= 1 300000

4

afns[i)f pRr df=lj= k%f*Lsf] af^f] pQ/

blIf)f df^f] k'/L u|fe]n ug]{ pQ/df k|e' u'Ktf

#/ ;Dd j*f g+= 1 250000

5

dnfxf ^f]nsf] k'/fgf] af^f] e/t ax/bf/ #/b]lv

pQ/ lszf]/L kf}bf/ #/;Dd df^f] u|fe]n 
j*f g+= 1 300000

6

eujfg u'Ktf #/b]lv 1 g+= j*f sfof{no hfg]

af^f] / klZrd :jf:Yo rf}sL x'+b} z;:q k|x/L

ansf] u]^ cuf*L ;Dd df^f] tyf u|fe]n 
j*f g+= 1 400000

7

;fljs /fdgu/ e''^fxf j*f g+= 7 l:yt

dl:hb b]lv sla|:yfg ;Dd / df]xDdb

xfhLsf] #/ b]lv d"n ;*s klZrd af^f]

:t/f]GgtL j*f g+= 2 1000000

xl/gu/f ufp+kflnsf

>d hg;xeflutf

aflif{s ljsf; sfo{qmd 
cf=j= 2074.075

qm=;=

sfo{qmd cfof]hgfsf] gfd 
sfof{Gjog 

x'g] :yfg 
nIo ljlgof]hg ?=

>f]t

cfGtl/s 

>f]t

cGt/ ;/sf/L ljQLo x:tfGt/)f



8

;fljs /fdgu/ e'^fxf jf* g+= 7 / 5 df

d'l;{b #/b]lv dl:hb x'+b} blIf)f tkm{ bfpb

#/ x+'b} #':sL hfg] af^f] ;Dd / lhofpl@g

xfhLsf] #/ x'+b} d"n ;*s ;Ddsf] af^f]

:t/f]Gglt j*f g+= 2 500000

9

;fljs /fdgu/ e'^fxf j*f g+= 3 df

df]hDdLn #/b]lv k"j{ x'+b} blIf)f xl/gu/f

af]*{/ ;Ddsf] ;*s ;t/f]GgtL j*f g+= 2 500000

10

;fljs uf}tdk'/ 2 g+= /fdb]j d]xtfsf]

#/b]lv tflx/ cG;f/Lsf] #/ ;Ddsf]

af^f] :t/f]GgtL j*f g+= 3 500000

11

;fljs uf}tdk'/ j*f g+= 4 sf] l;tf/fd

d]]xtfsf] #/b]lv k"j{ hfg] ;Q]/emf]*f

hf]*g] af^f] dd{t tyf u|fe]n
j*f g+= 3 500000

12

;fljs uf}tdk'/ uflj;sf] gof+xf^ b]lv

;fljs uf}tk'/ 9 ;Ddsf] d"n af^f]

:t/f]GgtL j*f g+= 3 700000

13

;fljs uf}tdk'/ 8 sf] eun' ;fxsf] #/

b]lv at/fxL x'+b} ;'s/ftL /fdsf] #/

;Ddsf] af^f] dd{t tyf u|fe]n j*f g+= 3 500000

14
/]*qm; ejgsf] klZzd tkm{sf] vfnL hUufdf

slj/ zGt dlGb/df df^f] k'l/ ejg lgdf{)f j*f g+= 4 600000

15 ;f}o{ ;*s jlQ h*fg 5 j^f j*f g+= 4 525000

16 gy'bf; slj/zfnfdf ;T;+u ejg lgdf{)f j*f g+= 4 500000

17 j*f sfof{no ejg lgdf{)f j*f g+= 4 1575000

18

;fljs j*f g+=1 hlkm/ ldofFsf] #/ b]lv k'j{

;fljs j*f g+= 2, 3 x'b} j*f g+= 4 sf] /jL

ofbjsf] #/;Dd d'n ;*s hf]*g] af^f]df df^f]

k'l/ u|fe]n
j*f g+= 5 900000



19

;fljs j*f g+=7 eG;f/ sfof{no b]lv blIf)f 

slj/y ^f]n x'b{ ;'sgf ^\o'j]n ;Ddsf] af^f] 

:t/f]GgtL j*f g+= 5 800000

20

;fljs j*f g+= 9 ctfj'n cG;f/Lsf] #/ 

b]lv k'j{ ;fljs #':sL j*f g+= 2 

sljnf;f^f]n hf]*g] ;*s :t/f]GgtL j*f g+= 5 500000

21
#':sL ahf/ b]lv pQ/ Obufx hfg] jf^f]

:t/f]GgtL j*f g+=6 800000

22

;fljs #':sL 3 Olnof; cG;f/Lsf] #/ b]lv 

klZzd ;'s'Djf;L ^f]n hfg] jf^f] u|fe]]n j*f g+=6 700000

23

#':sL xf^ahf/sf] kfgL lgsf;sf nflu kSsL 

gfnf lgdf{)f j*f g+=6 500000

24
cfwf/e't ljBfno b]lv k'j{ hfg] af^f]df

df^f] k'/L u|fe]n ug]{ sfo{ j*f g+= 7 900000

25

;z:q SofDk b]vL k'j{ sNe^{ b]lv pQ/ 

slj|:tfg hfg] af^f] lgdf{)f x\o'd kfOk 

h*fg j*f g+= 7 550000

26

P]o'j vfFsf] #/ b]lv blIf)f ;/bf/ ^f]n x'b{ 

sKtfgu+h l;dfgf ;Ddsf] af^f] :t/f]]GgtL j*f g+= 7 550000

ufp+kflnsf:tl/o ax'jlif{o k'jf{wf/ cfof]hgf

1

3':sL ahf/jf6 –b]jfgu+h ;8ssf] b]jfgu+h ufp 
kflnsfsf] l;df ;Dd sfnf]kq] ;8s lgdf{0f

#,$),)),))).–

2

;fljs 3':sL j8f g+= ( jf6 j8f g+=# x'b} 
slj|:tfgjf6 a;Gtk'/sf] d'n ;8s hf]8g] ;8s 
:t/f]GgtL

!,)),)),))).–

3 xl/gu/f –a;Gtk'/ ;8s !,)),)),))).–



4

a;Gtk'/ j];SofDk x'b} csf]{ a;Gtk'/ hf]8g] ;8s 
:t/f]GgtL

!,)),)),))).–

5

;fljs xl/gu/f j8f g+=( b]vL uf}tdk'/  gof xf6 
;Ddsf] ;8s :t/f]GgtL

!,)),)),))).–

6

e'6fxf ahf/jf6 j;Gtk'/ x'b} af]8{/ ;Ddsf] ;8s 
:t/f]GgtL

@,)),)),))).–

7 a;Gtk'/–3':sL ;8s :t/f]GgtL !,)$,)),))).–

8

;fljs xl/gu/f j8f g+=! Aff;'sLgfy dlGb/jf6 vl8 
6f]n x'b} l;l8of] rf]s ;Ddsf] ;8s

nfut cg'dfg 
tof/ ul/ jh]6sf]] 
Joj:yf ul/g] 

hDdf 120000000

k|j${gfTds sfo{qmd

1

;fljs /fdgu/ e'^fxf j*f g+= 9 %f]^L dl:hb

b]]]lv n:s/Lsf] #/ x'b} pQ/ g/l;+x #f^ hfg]

vf]nf;Ddsf] af^f]df df^f] k'/L  u|fe]n 
j*f g+= 1 350,000

2

;fljs /fdgu/ e'^fxf jf* g+=9 lkkn af]^ k"j{

;fljs 1 g+= j*f d"n ;*s hf]*g] af^f] dd{t

u|fe]n j*f g+= 1 250000

3
;fljs /fdgu/ e'^fxf j*f g+= 9 sf] d)*n

^f]n hfg] g]kn #/ hfg] af^f] dd{t j*f g+= 1 100000

4
Obufx k"j{kl^af^ df%f xl^of b]lv pQ/ d)*n

^f]n hfg] af^f] dd{t j*f g+= 1 75000

5

afns[i)f pRr df=lj= sf] zf}rfno dd{t tyf

vfg]kfgL ^+sL vl/b tyf k'/fgf] ejgsf] kmlg{r/

dd{t j*f g+= 1 200000

6
j*f g+= 9 sf] dbzf{df ;fOsn / df]^/

;fOsn /fVg] ^\i^ lgdf{)f j*f g+= 1 100000

8
;fljs /fdgu/ e'^fxf j*f g+= 1 dStasf] e'O{

(nfO{ ug]{ sfo{ j*f g+= 1 50000

9 k|;'tLu[x ejg lgdf{)f j*f g+= 1 300000



10

;fljs /fdgu/ e'^fxf j*f g+= 2 sf] gful/s

;r]tgf s]Gb| ejg lgdf{)f cw'/f] sfd k'/f ug{ 
j*f g+= 1 150000

11 xg'dfg dlGb/ cuf*L lj>fdno lgdf{)f j*f g+= 1 50000

12 :jf:Yo rf}sL ejg dd{t ;'wf/sf nflu j*f g+= 1 50000

13

j*f sfof{nosf nflu Nofk^k, lk|G^/,

sDKo'^/ pks/)fx? Vl/b j*f g+= 2 300000

14

j*f sfof{nosf nflu cfjZos kmlg{r/

;fdu|Lx? Vl/b j*f g+= 2 125,000

15

j*f sfof{nosf nflu Oge{^/ pks/)f vl/b

j*f g+= 2 80000

16

;fljs /fdgu/ e'^fxf 4 df dl:hb ePsf]

&fp+df /}h' #/ cuf*L uf/]^f] af^f] u|fe]n 

j*f g+= 2 150000

17

;fljs /fdgu/ e'^fxf j*f g+= 4 df /x]sf]

sla|:tfgsf] af^f]df 2 j^f xf]d kfO{k /flv

u|fe]n ug]{ . j*f g+= 2 100000

18

e'^fxf ahf/sf] lzj dlGb/ cuf*L lj>fdfno 

lgdf{)f sfo{ j*f g+= 2 75000

20

lzj dlGb/b]lv k"j{ :s"nsf] u]]^ x'b} ofs'jsf]

#/;Dd / a|xd #/b]lv blIf)f dGgfg l;l@sL

#/;Ddsf] af^f] :t/f]GgtL j*f g+= 2 220000

21

;fljs /fdgu/ e'^fxf j*f g+= 3 df /fd

^f]nsf] klZrd tkm{sf] af^f]df lkmlné /

u|fe]n j*f g+= 2 100000

22

;fljs /fdgu/ e'^fxf j*f g+= 3 dl:hb

b]lv p;dfg df]NjL #/;Dd kSsL ;*sdf

hf]*g] af^f]df df^f] lkmlné / u|fe]n

j*f g+= 2 50000

23 /fhfhL yfg sDkfp)* lgdf{)f j*f g+= 3 100,000

24 b'uf{ dlGb/ a/)*f lgdf{)f gof+ xf^ j*f g+= 3 50000



25 :jf:Yo rf}sL #]/fa]/f sDkfp)*jfn j*f g+= 3 100000

26
k|x/L rf}sL /+u /f]ug tyf sfof{no

;fdfg dd{t j*f g+= 3 25000

27
;fljs uf}tdk'/ 9 /fhfhL dlGb/

sDkfp)*jfn lgdf{)f tyf #]/fa]/f j*f g+= 3 50000

28
;fljs uf}tdk'/ 8 slj/ dlGb/nfO{

h:tfkftf j*f g+= 3 30000

29 gof+ xf^ ;fj{hlgs zf}rfno lgdf{)f j*f g+= 3 150000

30

;fljs uf}tdk'/ 6 b]j gf/fo)f p/f+jsf]

#/b]lv blIf)f k"j{ hfg] af^f] vf]nf ;Dd

dd{t j*f g+= 3 45000

31 O:nfldof :s'n kmlg{r/ lgd{)f j*f g+= 3 40000

32
;fljs uf}tk'/ 7 /fhfhL yfg hfg]

af^f]sf] af+sL sfo{ ug{ j*f g+= 3 100000

33
;fljs uf}tdk'/ 9 efn' #/b]lv klZrd

hfg] af^f] dd{t tyf u|fe]n j*f g+= 3 150000

34

;fljs uf}tk'/ 9 efujt d]xtfsf]

#/b]lv ;fljs xl/gu/f 2 ;Ddsf] af^f]

dd{t j*f g+= 3 250000

35

;fljs uf}tdk'/ 9 ;'ub]j d]xtfsf] v]t

b]lv blIf)f vf]nf b]lv k"j{ blk gf/fo)f

;fxsf] v]t ;Ddsf] af^f] dd{t  
j*f g+= 3 200000

36

/fh]Gb| dxtf]sf] bf]sfg #/ b]lv cgGbL 

bf;sf] #/ ;Dd af^f] %'^\ofO{ ;*s dd{t j*f g+= 4 70000

37

u'b/zfxL dlGb/df (f]sf xfnL #[]/fjf/f 

lgdf{)f j*f g+= 4 150000



38

d]hLwf/sf] af+w dd{t tyf gx/df kmn 

lgdf{)f ul/ s'nf] ;+rfng ug{ ljleGg 

;fOhsf] kfOk h*fg j*f g+= 4 100000

39

;fljs j*f g+= 2 df ljB't kf]n uf*L 

ljB't tf/ lj:tf/ sfo{ j*f g+= 4 50000

40 sj|:yfgdf tf/ #]/fjf/f lgdf{)f j*f g+= 4 75000

41

;fljs j*f g+= 1 df le=l;=dd{t ul/ 200 

ld^/ (nfg j*f g+= 4 50000

42

xb/f gS;f cg';f/ %'^\ofO{ ;/;kmfO{ ug]{ 

sfo{ j*f g+= 4 25000

43

k'/fgf] Ogf/ b]lv klZzd ;'g;/L vf]nf ;Dd 

af^f] %'^\ofO{ df^f] k'l/ u|fe]n ug]{ sfo{ j*f g+= 4 200000

44 O:nfd #/ b]lv dl:hb ;Ddsf] af^f] dd{t j*f g+= 4 50000

45 /fhfhL dlGb/sf] #]/fjf/f lgdf{)f ;fljs j*f g+= 8j*f g+= 4 100000

46

s]bf/ zdf{sf] #/ b]lv r'NxfO{sf] #/ ;Dd 

af^f]df df^f] k'l/ u|fj]n ug]{ sfo{ j*f g+= 4 100000

47

e}/jbfg #/ b]lv xl/gu/f l;df ;Dd 

af^f]df df^f] k'l/ u|fe]n ug]{ sfo{ j*f g+= 4 300000

48

;fljs j*f g+= 7 /fdkmn ;fxsf] #/ b]lv 

gf/fo)fsf] #/ ;Dd / /d]zsf] #/ b]lv 

;To gf/fo)fsf] #/ af^f]df df^f] k'g]{ sfo{ j*f g+= 4 75000

49

xl/gu/f ahf/sf] ;fj{hlgs hUuf %'^\ofpg] 

sfo{ j*f g+= 4 50000

50

;fljs j*f g+= 7 tTdf ^f]ndf dw's/ d+lb/ 

dd{t ;Def/ j*f g+= 4 15000

51 o'jf tyf v]ns'b sfo{qmd j*f g+= 4 40000

52

d& dlGb/ :yfgLo d]nf hfqf kj{ ;+/If)f 

sfo{qmd j*f g+= 4 150000



53

;]jf k|jfxdf u'')f:tl/o ;'wf/sf nflu 

sd{rf/Lx?nfO{ Ifdtf ljsf; tflnd, of]hgf 

th'{df, cg'udg ;'kl/j]If)f tyf d'Nof+sg 

tflnd j*f g+= 4 100000

54

clt ljkGg c:j:Yox?nfo{ :jf:Yo ;]jfdf 

kx'+r k'Cofpg ;fdflhs ;'/Iff sfo{qmd j*f g+= 4 20000

55

j*f sfof{nosf nflu d];Lg/L cf}hf/ tyf 

kmlg{r/ vl/b j*f g+= 4 50000

56 k|sf]k Joj:yfkg sfo{qmd j*f g+= 4 50000

57 afn'jf+wsf] af^f] dd{t ;fljs j*f g+= 7 j*f g+= 4 200000

58

;?)f emfsf] #/ b]lv /fdk|;fbsf] #/ ;Dd 

df^f] k'l/ u|fe]n ug][{ sfo{ j*f g+= 4 100000

59

pbo gf/fo)fsf] #/ b]lv lj/f^gu/ hfg] 

af^f] ;Ddsf] af^f] dd{t j*f g+= 4 130000

60

;fljs j*f g+= 7 hJjf/ cG;f/Lsf] #/ b]lv 

blIf)f ;fljs j*f g+= 8 "?:td xfhLsf] #/ 

;Dd hf]*g] ;*s :t/f]GgtL -qmdfut_ j*f g+= 5 300000

61 ;'rgf k|ljlw h*fg tyf lgoldt ;+rfng j*f g+= 5 30000

62 ;fdflhs kl/rfng sfo{qmd j*f g+= 5 80000

63

j*f:tl/o of]hgf th'{df, cg'udg, ;'kl/j]If)f, 

d'Nof+sg j*f g+= 5 75000

64 pkef]Qmf ;ldlt cg'lzIf)f j*f g+= 5 50000

65 ;fj{hlgs ;'g'jfO{ sfo{qmd j*f g+= 5 50000

66 gjb'uf{ dlGb/ lgdf{)f / ;f++:s[lts sfo{qmd j*f g+= 5 200000

67

j*f sfof{nosf] nflu Nofk^k,1 kmf]^f]skL 

d]l;g 1 vl/b / lk|G^/ dd{t j*f g+= 5 120000

68 s[lif, kz' :jf:Yo lzlj/ sfo{qmd j*f g+= 5 100000



69

s[ifsx?sf nflu uf]&]-k|fuf+l/s_ dn tof/ 

ug]{ tflnd j*f g+= 5 50000

70

;fljs j*f g+= 1 b]lv 9 ;Dd af^f] dd{t 

sfo{ j*f g+= 5 245000

71

;fljs #':sL 6 t}oj cG;f/Lsf] #/ b]lv k'j{ 

;fljs j*f g+= 5 / 6 d'n af^f] ;Ddsf] 

;*s u|fe]n j*f g+= 6 400000

72

;fljs #':sL 1 xldb cG;f/Lsf] #/ b]lv k'j{ 

;fljs j*f g+= 2 hfg] af^f] df^f] k'l/ 

u|fe]n j*f g+= 6 400000

73

;fljs #':sL 1 t]nof/L ^f]nfsf] jf^f] 

lgdf{)f j*f g+= 6 50000

74 cfsl:ds dd{t ;Def/ j*f g+= 6 30000

75

;:s[lt k|j${g sfo{qmd-b'uf{ dlGb/ ;f+:s[lts 

sfo{qmd_ j*f g+= 6 30000

76 ;'rgf k|ljlw h*fg tyf lgoldt ;+rfng j*f g+= 6 25000

77 ;fdflhs kl/rfng sfo{qmd j*f g+= 6 40000

78 of]hgf th"{df, cg'udg, d'Nofs+g j*f g+= 6 65000

79 #':sL xf^ahf/ ;/;kmfO{ sfo{qmd j*f g+= 6 100000

80 pkef]Qmf ;ldlt cg'lzIf)f sfo{qmd j*f g+= 6 20000

81 ;fj{hlgs ;'g'jfO{ sfo{qmd j*f g+= 6 40000

82

;fljs #':sL 2 pQ/ ^f]nf a;Gtk'/ hfg] 

af^f] u|fe]n j*f g+= 7 700000

83

;fljs #':sL 4 O:nfdsf] #/ b]vL k'j{ 

dgf]j/sf] #/ ;Ddsf]] af^f] lgdf{)f j*f g+= 7 200000

84 ;fgfltgf dd{t ;Def/ sfo{ j*f g+= 7 100000

85 ;'rgf k|ljlw h*fg tyf ;+rfng vr{{ j*f g+= 7 35000

86 ;fdflhs kl/rfng sfo{qmd j*f g+= 7 40000

87 of]hgf th'{df, cg'udg d'Nof+sg j*f g+= 7 65000

88 pkef]Qmf ;ldlt cg'lzIf)f j*f g+= 7 20000



89 ;fj{hlgs ;'g'jfO{ ;+rfng sfo{qmd j*f g+= 7 40000

90

;fljs j*f g+= 7 hJjf/ cG;f/Lsf] #/ b]lv 

blIf)f ;fljs j*f g+= 8 "?:td xfhLsf] #/ 

;Dd hf]*g] ;*s :t/f]GgtL -qmdfut_ j*f g+= 5 300000

91 ;'rgf k|ljlw h*fg tyf lgoldt ;+rfng j*f g+= 5 30000

92 ;fdflhs kl/rfng sfo{qmd j*f g+= 5 80000

93

j*f:tl/o of]hgf th'{df, cg'udg, ;'kl/j]If)f, 

d'Nof+sg j*f g+= 5 75000

94 pkef]Qmf ;ldlt cg'lzIf)f j*f g+= 5 50000

95 ;fj{hlgs ;'g'jfO{ sfo{qmd j*f g+= 5 50000

96 gjb'uf{ dlGb/ lgdf{)f / ;f++:s[lts sfo{qmd j*f g+= 5 200000

97

j*f sfof{nosf] nflu Nofk^k,1 kmf]^f]skL 

d]l;g 1 vl/b / lk|G^/ dd{t j*f g+= 5 120000

98 s[lif, kz' :jf:Yo lzlj/ sfo{qmd j*f g+= 5 100000

99

s[ifsx?sf nflu uf]&]-k|fuf+l/s_ dn tof/ 

ug]{ tflnd j*f g+= 5 50000

100

;fljs j*f g+= 1 b]lv 9 ;Dd af^f] dd{t 

sfo{ j*f g+= 5 245000

ufp+kflnsf:tl/o k|j$gfTds sfo{qmd

! sDKo'6/ k|0ffnL dfkm{t JolQmut 36gf btf{ 
clen]lvs/0f ug{ cfjZos ef}lts ;fufu|L / ;+rf/ 
Joj:yfkg / tflnd sfo{qmd 300000

@ /fh:j ;DefJotf cWoog sfo{qmd #,)),))).–

# ljsf;sf nflu ;+rf/ sfo{qmd -a|f];/, j'n]l6g tyf 
k'l:tsf k|sfzg_ %,)),))).–

$ :yfgLo efiff, ;+:s[lt,;flxTo k|j4{g sfo{qmd #,)),))).–

% v]ns'b ljsf; sfo{qmd %)),))).–



^ jftfj/0f d}qL :yfgLo zf;g ;DjlGw cled'lvs/0f 
sfo{qmd $,)),))).–

& sd{rf/Lx?sf nflu sDKo'6/ / n]vfkfng ;DjlGw 
tflnd @,)),))).–

* pRr /fh:j kl/rfng ePsf ufpFkflnsfx?sf] 
cWoog e|d0f $,)),))).–

( ljleGg ;df/f]x, lbj;, ;+rfng tyf Joj:yfkg 
sfo{qmd @,)),))).–

!) hojfo' kl/jt{g cg's'ng ;DjlGw clwd'lvs/0f 
sfo{qmd $,)),))).–

!! cfGtl/s cfosf] lbuf] Joj:yfkgsf nflu xl/gu/f 
ahf/ / e'6fxf jhf/df /x]sf ;+/rgfx?sf] dd{t 
;Def/ !),)),))).

!@
kmf]x/ d}nf Joj:yfkg tyf ;/;kmfO{ k|j4{g sfo{qmd #,)),))).–

!# k|fylds :jf:Yo s]Gb| xl/gu/fsf] Nofj ejg dd{t 
;Def/ #,)),))).–

!$ lgz'Ns :jf:Yo ;]jf k|j4{g sfo{qmd -:jf:Yo 
;+:yfx?sf nflu cf}iflw / pks/0f Joj:yfkg_ ^,)),))).–

!% jfn d}qL :yfgLo zf;g ;DjlGw cled'lvs/0f 
sfo{qmd $,)),))).–

!^ ljkb Joj:yfkg sfo{of]hgf lgdf{0fsf nflu 
sfo{zfnf uf]i7L #,)),))).–

!& $ g+=/ & gDj/ j8f sfof{nodf sDKo'6/ k|0ffnLjf6 
/fh:j ;+sng ug{ ;km\6j]o/ / cfjZos ;fdfu|L 
vl/b @,)),))).–

Drainage system Master plan lgdf{+0f %,)),))).



!* cfo'j]{b cf}ifwfnosf nflu cfjZos kmlg{r/, cf}ifwL 
vl/b sfo{qmd #,)),))).–

!( ufpFkflnsf oftfoft u'?of]hgf lgdf{0f *,)),))).

;'/Iff Joj:yfkg ;DjlGw hgr]tgf sfo{qmd !%))))

20 hgk|ltlglwx?sf nflu :yfgLo zf;g ;+rfng 
;DjlGw cled'lvs/0f sfo{qmd #)))))

21 j:tL ljsf; tyf ejg lgdf{0f dfkb08 lgdf{0f #)))))

22

&'nf k'jf{wf/ cfof]hgfx?sf] lj:t[t cfof]hgf 

k|ltj]bg tof/L 2000000

23 ufp+;ef ;+rfng 400000

hDdf 22882000

dlxnf nlIft sfo{qmd

1
dlxnfx?sf nflu :j/f]huf/ d"ns sfo{qmd

;+rfng ug{ j*f g+= 1 150000

2 dlxnf :jod;]ljsfx?nfO{ k|f]T;fxg vr{ kfjt j*f g+= 1 50000

3

Go"g cfo ePsf ldxnfx?sf nflu 3 dlxg]

l;nfO{ s^fO{ tflnd j*f g+= 2 300000

4
l;nfO{ s^fO{ ;DaGwL tflnd tyf l;nfO{

d]lzg vl/b j*f g+= 3 150000

5 dlxnf :j+o ;]ljsf k|f]T;fxg j*f g+= 3 39600

6
dlxnf ;fd'bflos ejg Knf:^/ tyf /+u

/f]ug j*f g+= 3 110400

7

dlxnf :jf:Yo :jo+;]ljsfx?nfO{ k|f]T;fxg 

sfo{qmd kf]lnof] vf]k le^fldg {P sfo{qmddf 

vfhf vr{ j*f g+= 4 114000

8 dlxnf lbj; tyf ljleGg sfo{qmd ;+rfng j*f g+= 4 20000

9

dlxnfx?sf nflu 3 dlxg] l;nfO{ s^fO{ 

tflnd tyf d]l;g dd{t j*f g+= 4 66000

10 j*f sfof{no ejg lgdf{)f j*f g+= 4 200000



11 :jf:Yo rf}sLdf cf}ifwL vl/b / sd{rf/L Joj:yfkgj*f g+= 5 150000

12

dlxnfx?sf] cf~ v:g] ;d:of /f]u ;DjlGw 

:jf:Yo lzlj/ ;+rfng j*f g+= 5 150000

13

blnt, ljkGg Pjd\ Psn dlxnfx?sf] 

cfocfh{gdf ;xof]u k'/\ofpg pGgt hftsf] 

afv|fkfng tflnd / afv|f ljt/)f j*f g+= 5 100000

14

dlxnf l;nfO{ s^fO{ tflnd tyf d]l;g 

;xof]u j*f g+= 6 100000

15

ljkGg dlxnfx?sf] cfo cfh{gsf nflu 

kz'kfng ;xof]u tyf tflnd j*f g+= 6 100000

16 dlxnf :jf:Yo :jo+;]ljsf k|f]]T;fxg j*f g+= 6 50000

17

gful/s ;r]tgf s]Gb|sf dlxnfx?nfO{ dlxnf 

;xsf/L u&g ;DjlGw tflnd j*f g+= 6 50000

18

dlxnf l;nfO{ s^fO{ tflnd tyf d]l;g 

;xof]u j*f g+= 7 75000

19

a]df};dL t/sf/L v]tL tflnd tyf pks/)f 

;xof]u j*f g+= 7 50000

20

ljkGg dlxnfx?sf] cfo cfh{gsf nflu 

kz'kfng ;xof]u tyf tflnd j*f g+= 7 75000

21

gful/s ;r]tgf s]Gb|sf dlxnfx?nfO{ dlxnf 

;xsf/L u&g ;DjlGw tflnd j*f g+= 7 50000

22 dlxnf :jf:Yo :jo+;]ljsf k|f]]T;fxg j*f g+= 7 50000

23 dlxnfx?sf nflu -1 dlxg]]_ a''l^s tflnd ufp+kflnsf:t/ 400000

24

dlxnfx?sf nflu dvdnsf] h'Qf rKkn 

jgfpg] tflnd sfo{qmd ufp+kflnsf:t/ 400000

hDdf 3400000

afnjflnsf nlIft sfo{qmd

1
15 hgf u/Lj h]xGbf/ afnaflnsfx?nfO{

%fqa[lt ljt/)f j*f g+= 1 75000



2
10 aif{ ;Ddsf afnaflnsfx?nfO{ lgMz'Ns

:jf:Yo k/LIf)f lzj/ ;+rfng ug{ j*f g+= 1 100000

3 v]ns'b ljsf;sf nflu km'^jn v]nnfO{ j*f g+= 1 50000

4 lqms]^ v]ns'bsf nflu j*f g+= 1 50000

5 afnaflnsfx?nfO{ z}lIfs ;fdu|L ljt/)f j*f g+= 1 25000

6

hldct'n O:nfxdf cWog/t 5 hgf c;xfo

afnaflnsfsf] Ps aif{sf] ;Dk")f vr{ jfkt

Psd'i^ ?= 15000. sf b/n] k")f{ %fqa[lt

pknAw u/fpg] sfo{qmd

j*f g+= 2 75000

7

afnaflnsfx?sf j*f :t/Lo h'lgo/ km'^jn

k|ltof]lutf ;+rfng ;DaGwL sfo{qmd 

j*f g+= 2 50000

8

2 g+= j*f cGtu{t /x]sf u|fld)f pTyfg

k|f=lj= / lj=kL= k|f=lj=sf c;xfo tyf blnt

afnaflnsfx? dWo] a(Ldf 100 hgfsf

nflu lgz'Ns kf&\o ;fdu|L pknAw u/fpg]

sfo{qmd j*f g+= 2 175000

9
afnaflnsfx?df lzIff k|lt ?rL a(fpg

nflu ;*s gf^s j*f g+= 3 25000

10 ljkGg ljBfyL{x?df kf]zfssf] Joj:yf j*f g+= 3 100000

11
afn ljsf;sf] aRrfsf nflu v]ns'b

;fdu|L vl/b j*f g+= 3 84000

12

u/Lj tyf ljkGg kl/jf/ ljBfyL{x?nfO{

%fqa[ltsf] Joj:yf cyjf hgtf df=lj=df

kmlg{r/sf] Joj:yfkg
j*f g+= 3 90000

13

jfnd}qL j*f #]f]if)ff k'j{ ljleGg sfo{qmd 

;+rfng j*f g+= 4 200000

14 jfnd}qL j*f #f]if)ff sfo{qmd j*f g+= 4 75000



15

jfnSnjx?sf]] Ifdtf ljsf; tyf kqsfl/tf 

tflnd j*f g+= 4 30000

16

afn ljjfx tyf jfn >d lj?$ r]tgfd'ns 

sfo{qmd j*f g+= 4 30000

17

jfnjflnsfx?nfO{ v]ns'b ;fdfu|L ljt/)f 

tyf v]ns'b sfo{qmd j*f g+= 4 40000

18 k')f{ hGdbtf{ ePsf] j*f #f]if)ff sfo{qmd j*f g+= 4 25000

19

afnjflnsfx?sf nflu lqms]^ v]n d}bfg 

Joj:yfkg sfo{qmd j*f g+= 5 50000

20

blnt, ckf+u,ljkGg jfnjflnsfsf nflu 

z}lIfs ;fdfu}L / ckf+u ljBfyL{sf nflu 

lXjnlro/ ljt/)f sfo{qmd j*f g+= 5 125000

21

;lxb u+ufnfn k|f=lj=sf ljBfyL{x?sf nflu 

*]S; a]Gr lgdf{)f j*f g+= 5 25000

22

k|To]s ljBfnox?df k|fylds pkrf/ pks/)f 

ls^ a:; ljt/)f Pjd xflhl/hjfkm / 

cltl/Qm s[ofsnfk ;+rfng j*f g+= 5 100000

23

afn Snj tyf jfn ;+rfnsf] Ifdtf ljsf; 

sfo{qmd j*f g+= 5 50000

24

df=lj=;'v;]gfdf sDKo'^/ lzIffsf nflu 1 

yfg sDKo''^/ ;xof]u j*f g+= 5 50000

25

hf]lvddf k/]sf afnjflnsfsf clejfjsnfO{ 

cfo cfh{gsf nflu kz'kfng tflnd j*f g+= 6 100000

26 k')f{ vf]k #f]if)ff sfo{qmd j*f g+= 6 25000

27

:jf:Yo rf}sLdf afnaflnsf ;DjlGw pks/)f 

tyf cf}ifwL vl/b j*f g+= 6 25000

28

afnclwsf/ ;DjlGw jSt[Tjsnf tyf 

xflhl/hjfkm k|ltof]uLtf ;+rfng j*f g+= 6 50000



29

afn ljsf; s]Gb|x?nfO{ z}lIfs ;fdfu|L 

ljt/)f j*f g+= 6 30000

30 jfnjflnsf :jf:Yo lzlj/ ;+rfng j*f g+= 6 40000

31 ljkGg ljBfyL{x?sf nflu %fqj[lQ ljt/)f j*f g+= 6 30000

32

hf]lvddf k/]sf afnjflnsfsf clejfjsnfO{ 

cfo cfh{gsf nflu kz'kfng tflnd j*f g+= 7 100000

33 k')f{ vf]k #f]if)ff sfo{qmd j*f g+= 7 25000

34

:jf:Yo rf}sLdf afnaflnsf ;DjlGw pks/)f 

tyf cf}ifwL vl/b j*f g+= 7 25000

35

afnclwsf/ ;DjlGw jSt[Tjsnf tyf 

xflhl/hjfkm k|ltof]uLtf ;+rfng j*f g+= 7 50000

36

afn ljsf; s]Gb|x?nfO{ z}lIfs ;fdfu|L 

ljt/)f j*f g+= 7 30000

37 kf]if)f tyf jfn :jf:Yo lzIff sfo{qmd j*f g+= 7 40000

38 ljkGg ljBfyL{x?sf nflu %fqj[lQ ljt/)f j*f g+= 7 30000

39

afnjflnsfx?sf nflu k|ltof]lutfTds 

sfo{qmd ;+rfng 800000

hDdf 3400000

lk%*f ju{ nlIft sfo{qmd

1 15 hgf o'jfx?sf nflu sDKo'^/ tflnd j*f g+= 1 100000

2
15 hgf o'jfx?fnfO{ nf]s ;]jf tof/L sIff

;+rfng j*f g+= 1 100000

3

ck|fljlws ;]jf tkm{ nf]s;]jf cfof]u tof/L

sIff ;+rfng ;DaGwL sfo{qmd÷df]afO{n dd{t

tflnd j*f g+= 2 100000

4

k|fljlws ;]jf tkm{ nf]s;]jf cfof]u tof/L

sIff ;+rfng ;DaGwL sfo{qmd÷3 dlxg]

sDKo'^/ tflnd j*f g+= 2 100000



5
lk%*f au{sf o'jfx?nfO{ sDKo'^/

;DaGwL 3 dlxg] tflnd j*f g+= 3 100000

6

lk%*f ju{sf nflu nf]s ;]]jf cfof]u tof/L 

sIff ;+rfng j*f g+= 4 100000

7 dw];L d'l:nd lk%*f ju{sf kfZj{lrq tof/L j*f g+= 4 100000

8

lk%*f ju{sf o'jfx?sf nflu nf]s ;]jf, 

lzIff ;]jf cfof]u tof/L sIff ;+rfng j*f g+= 5 100000

9

lk%*f ju, p/fj+, hghftLx?sf nflu 

;'wfl/Psf] r'Nxf] sfo{qmd j*f g+= 5 50000

10

lk%*f ju{, p/fj+ nufotsf hghftLx?sf] 

;+:s[lt ;+/Of)f sfo{qmd j*f g+= 5 50000

11 a]/f]huf/x?sf nflu df]jfOn dd{t tflnd j*f g+= 6 45000

12 a]/f]huf/x?nfO{ sDKo'^/ tflnd j*f g+= 6 45000

13 a]/f]huf/x?nfO{ xfp; jfol/+u tflnd j*f g+= 6 45000

14 :yfgLo efiff ;flxTo ;+:s[lt k|j${g sfo{qmd j*f g+= 6 20000

15 nf]s ;]jf cfof]u tof/L sIff ;+rfng j*f g+= 6 45000

16 a]/f]huf/x?nfO{ df]jfOn dd{t j*f g+= 7 45000

17 a]/f]huf/x?nfO{ sDKo'^/ tflnd j*f g+= 7 45000

18 a]/f]huf/x?nfO{ xfp; jfol/+u tflnd j*f g+= 7 45000

19 :yfgLo efiff ;flxTo ;+:s[lt k|j${g sfo{qmd j*f g+= 7 20000

20 nf]s ;]jf cfof]u tof/L sIff ;+rfng j*f g+= 7 45000

21 lk%*fju{sf nflu ef}lts k'jf{wf/ ljsf; ufpkflnsf 400000

hDdf 1800000

blnt nlIft sfo{qmd



1

15 hgf blnt lszf]/Lx?nfO{ l;nfO{ s^fO{

tflnd ;+rfng 1 g+= sfof{non] 5 yfg lznfO{

d]lzg ;d]t vl/b u/L tflnd ;+rfng ug]{
j*f g+= 1 200000

2

xl/gu/f uf=kf= j*f g+= 2 cGt{utsf blnt

kl/jf/sf] nut ;+sng u/L a(Ldf 100

kl/jf/sf nflu k|lt kl/jf/ 1÷1 j^fsf

b/n] kfgL %fGg] lkmN^/ pknAw u/fpg]

sfo{qmd j*f g+= 2 200000

3
blntx?sf nflu lzkd''ns tyf cfo

cfh{g tflnsd j*f g+= 3 200000

4

blnt j:tLsf clt ljkGg blnt kl/jf/df 

;f}o{ jlQ ljt/)f sfo{qmd - slDtdf 25 #/ 

kl/jf/_ j*f g+= 4 200000

5

blnt ;d'bfosf] lhljsf]kfh{g ;'wf/sf nflu 

cfocfh{g sfo{qmd, afv|fkfng tyf ljt/)f 

sfo{qmd j*f g+= 5 200000

6

cfo cfh{gsf nflu pGgt hftsf kz'kfng 

;DjlGw tflnd j*f g+= 6 75000

7 a]df};dL t/sf/L v]tL tflnd j*f g+= 6 75000

8 /fhfhL yfg lgdf{)f ;fljs #':sL, 8 j*f g+= 6 50000

9

cfo cfh{gsf nflu kz' kfng ;xof]u 

sfo{qmd j*f g+= 7 40000

10

blntx?sf] efiff ;flxTo ;+:s[lt k|j${g 

sfo{qmd j*f g+= 7 20000

11 /fhfhL yfg lgdf{)f ;fljs #':sL 4 j*f g+= 7 40000

12

;fd'bflos ejg lgdf{)f xg'dfg dlGb/ lgdf{)f 

:yn ;fljs #':sL 2 j*f g+= 7 100000

13

blntx?sf nflu :j/f]huf/d'ns sfo{qmd 

;+rfng 400000

hDdf 1800000



cGo nlIft sfo{qmd

1 cflbjf;L hghftL nlIft sfo{qmd 800000

2 h]i& gful/s nlIft sfo{qmd 800000

3 ckf+u nlIft sfo{qmd 600000

hDdf 2200000



!= kmf]x/ d}nf Joj:yfkg pks/0f - 
Backhoe loader _ yfg ! -Ps_ 
vl/b

$#))))) $#)))))

@ df]6/ ;fOsn yfg @ -b'O{_ / :s'6L 
yfg -!_ vl/b

&))))) &)))))

# d]l;g/L cf}hf/ tyf cGo pks/0f %))))) %)))))

$ kmlg{r/ %))))) %)))))

% k'Flhut ;'wf/- sfof{no ejgdf 
kfl6{;g / /+u/f]ug_

#))))) #)))))

^ c=Nof eO{ cfPsf] bfloTj e'QmfgL

^=! ufpFkflnsf kfZj{ lrq lgdf{0f #))))) #)))))

^=@ ufpF;ef ejg dd{tsf] jf+sL /sd %)))) %))))

/fh:j af+8kmfF8 / c=Nof=eO{ cfPsf] ah]6 /sdjf6 l:js[t ePsf cfof]hgf tyf sfo{qmd
cfof]hgf÷sfo{qmdsf] gfdqm=;+= sfof{Gjog 

x'g] :yfg
nIo ljlgof]lht 

/sd
cfGtl/s >f]t

^=@ ufpF;ef ejg dd{tsf] jf+sL /sd 
e'QmfgL

%)))) %))))

^=# ;'gf}nf xhf/ lbg sfo{qmdsf] e'QmfgL -
3':sL

#))))) #)))))

^=$ l:6n b/fh yfg ! -Ps_ / l;lnª k+vf 
yfg ! -Ps_ sf] e'QmfgL lk|mh yfg -
Ps_ sf] e'QmfgL

%)))) %))))

& sfof{nosf nflu km'n cK;gsf] lksck 
uf8L vl/b

#%))))) #%)))))



g]kfn k|b]z ;/sf/ :yfgLo 
c=Nof=eO{ cfPsf] 
/sd

/fh:j af+8kmfF8 / c=Nof=eO{ cfPsf] ah]6 /sdjf6 l:js[t ePsf cfof]hgf tyf sfo{qmd
>f]t ljlgof]lht >f]t

cGt/ ;/sf/L ljlQo x:tfGt/0f

/fh:j afF8kmf8
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